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PART I/ 41T I
CHILD DEVELOPMENT AND PEDAGOGY / a1d & 9 Riamsmey
Directions : Answer the following questions by fﬁa“'}'r ¢ [FEiftaT Jval & 3w g4 @ G mud afa

sececting ihe most appropriate option,

Human development is divided inte domains

such ag

(1) psycholegical, cognitive, emotional and
physical

(2)  physical, spiritual, cognitive and social

(31 physical, cognitive, emotional and social

{4) emotional, cognilive, spiritual and
social-psycholegical

Which of the following iz a principle of

development ?

(1) Tt is a discontinuous process

(2] All processes of development are not
inler-connected

(33 1t does nol proceed at the same pace for
all

{4} Development is always linecar

Individual attention is important in the

teaching — learning process because

(1) it offers better opportunities to teachers
to disvipline each learner

(2} children develop at different rates and
learn differently

(3} learners always learn/betier in groups
(4} teacher training programmes prescribe it

Human personality is the result of
(1)  only environment

(2} only heredity
(3 uphringing and education
{4) intéraction betwecen heredity and

envirenment.
Intibe eontext of education, socialization
means
(1) adapting and
environment

adjusting to  sonal
{2) always following social norms
{3) creating one's own social norms

{4} respecting elders in socicty

1.

3.
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13)

Young learners should be encouraged to
mteract with peers in the elassroom so that

{1} they learn soeial skills in the course of
study

t2)  the teacher can control the classroom
betler

(3) they can learn answers to queslions
from cach other

(4) ihe syllabus can be covered quickly

According to Piaget's stages of Cognitive
Development, ilhe sensori-motor stage is
associated with

{1} ability fo interpret and analyse options
(2} concerns aboul zocial 155ues

mental

(3} imitation, memory and

representation

(4) ability to solve problems m logical
fashion

According to Kohlberg, a teacher can ingtill
moral values in children by

(1)  involving them in discussiong en moral
1z5ues

{2) giving strict instruttions on ‘how to
behave!

(3) giving importance tareligious teachings
(4) laying clear rules of behaviour

Which of the [ollowing is a feature of
progressive education ? :

(1} «Frequent tests and examinalions

{2) Flexible time-table and seating

arrangement

(3) Instruction based solely en prescribed
text-books

{4) FEmphasis on scoring good marks in
examinations

ot Tomnfidl &t sen-we1 § wFamERt ¥ ouw

(1) A 5@ F < T Fve Wra

) TS wE-F R dgal ol d e
A

(3) & Uh-gWl 9 wedl & IW AEm "

(4) TEEHT H 98T Seol yU A ST wh

frrst & daerers o & Gl & R,
sfeg-Tms  (HOd-IE) ) AT fREE gm
i g 2

(1) e oF T oh favdEew =3 O#
aivege

(2 wmfes ge2f 9 "ian
@y SR, Wia it aEas B
(4) s w9 § FH-TAHA & grga

Fleaad % agan, e F=) A ge =
forehre & HeRar €

(1) AT e W e w0 e e
Fh

(2) ‘HY R W ow =T 39 | s
ey o

(3) wfifw fomnm # wea ==
(1) oy9ER & WF fagn "9

famfafas 8 @ ab-@t afasie feenm =
fagmar 2 2

(1) AR-AR S W Al gl

2y TE-gRel ek doY & sEEnr A
GEIGILE|
(3) ¥aG WANGH WIA-TEE W ST

(4) TEme W =3 % W & WA



10

11.

12.

13.

14.

(4

A teacher makes use of a variety of tasks to
cater 1o the different learning styles of her
learners, She is influenced by

(1) Vypotsky's suciv-cutturai theory

(2) Piaget’s cognilive develupment theory
(3)  Kohlberg's moral development theory
(4] Gardner’s multiple intelligence theory

Vygotsky emphasized the significance of the
role played by which of the fullowing factors

in the learning of children ?
(1) Physical

(2} Socia)

(3) Hereditary

(4) Moral

A school gives preference W girls while
preparing students for a State level solo-song
competition, This refleels

(1) Progressive thinking
f2) Gender bias

(3} Global trends

(4} Pragmatic approach

Learners display individual diffefences. So a
teacher should

(1) inerease number of tets

(2) insist on uniform pace of learning

(3) provide a " ‘variety of learning
experiences

(4) enforge striet discipline

School-based assessment is primarily based
on the principle that

(1) “schools are more efficient than external
bodies of examination

(2) assessment should be very economical

(3} teachers know their learners’ capabilities
better than external examiners

(4) students should at all costs get high

grades

!
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20.

{G)

Which of the

guestion ?

fullowing 18 an  ohjeclive

(1) True or False

(2)  Essay type quoestion

(3)  Short answer question

(4]  Open ended question

Inclusive Education

(1) includes indoclrination of facts

(2} includes tleachers from marginalized
Eroups

(3) celebrates diversily in the ¢lussroom

(4)

The emphasis from teaching to learning can
be shifted by

(1)
{2) focusing on cxaminalion resulls
(3}
(4]  encouraging rote learning

encourages striet admission procedures

adopting frontal teaching
adopting child-centred pedagogy

When a child with a disability first comes to
school, the teacher should

(1) discuss with the child's parents” to
evolve collaborative plans

(2)  conduct an admission test

(31 refer the child to a special
according to the disability

(4] seclade him from other stidents

sehool

When a child ‘fails’, it means
(1) the system has failed

(2)  the child is not fit dor studies

(3) the childy hes  not memorized the
angwers properly

(4) the «hild should huave taken private
tuition

The most effective method to teach the

concept of germination of seeds is

(1} to show pictures of seed growth

{2) to pive detailed explanations

(3) to make the students plant seeds and
observe stages of germination

(4) to draw pictures on the hlack-hoard and
give descriptions

16.
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{

When a child gels bored while doing a task,
it is a sign that

(1)
(2)
(3)

the child is not capable of learning

the child needs to be disciplined

the task may have become mechanically
repetitive

(4) the child is not intelligent

Which of the following
learning 7

(1)
(2)

is a domain of

Spiritual

Profeasional
(3) Experiential
(4) Affective

Which of the following is the first step in the
scientific method of problem-solving ?

(1)
(2}
(3}
[(4)
Errors of learners often indicate
(1}
{2)
{3)
14)

A child starts to ery when his/grandmother
takes him from his mothier’s lap. The child
cries due to

(1)
(2)
(3]
(43

Collection of relevant information
Formation of hypothesis
Verification of hypothesis
Problem awareness

absence of learning
socio-economic status of the learners
how they learn

the need for mechanical drill

Stranger anxiety

Separation/anxiely

Soecial anxiety

Emcdtional anxiety

A teather mses a text and some pictures of
fruils and vegetables and holds a discussion
with® her students. The students link the
details with their previous knowledge and
learn the concept of nutrition. This approach
is based on

(1)
(2)
i(3)
(4)

Operant condilioning of learning
Construction of knowledge
Classical conditioming of learning

Theory of reinforcement

61
21.

22.

23.

24,

25.
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28,
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(
Critical pedagogy firmly believes that

(1) the expericnces and perceptions of

learners are important

2y the tecacher should alwavs lead the

classroom instruction

(37 the lesrners need not

independently

reason

{47 what children learn out of school is

irrelevant

A teacher, after preparing a quesiion paper,
checks whether the questions test specific
testing objectives. He is concerned primarily
about the guestion paper's

(1) reliability
(2)  validity
(3] conlent coverage

(4)  typology of guestions

Which of the following is a teacher-related
factor affecting learning 7

(1) MNature of the content

experiences

or learning

2)
(3
{d}

Mastery over the subject-matier
Proper seating arrangement

Availability
regourees

of _teaching=learning

A teacher never gives smswers o questions
herself, She encourages her students to
suggest answers, have group discussions and
adopt collaborative learning This approach
15 based on the principle of

(1) Teadiness to learn

(2} aetive participation

(3} proper organization of instructional
material

(4) setting a good example and being a

role-model

T}
27,

29,

fgaws fammenrs & 98 o fGvag & &
(1) w&a@aaﬁqu
2 uF G R opm e ¥ oART
F g T Y

il =1 wea w1 | an Ad w6
8y,

T TR ¥ TR A Wl 8 T
Erpiric S

(3)
(4
us fows 9y9-09 990 & A1, 49 Srd s o

fh &0 woq wlEwT % fafme sEva @ o o
® F | W yem w98 YW\ OAF

& i hfafm 2
(1) favae-Ea
(2) &
(3) @l Fwg-aw W wfhE e
(4) ¥ F TER

frfafas # & siA-a1 farm § gatg afvm
T FAT FA Al S & 2

fama-avq a1 sHferrH-SgeEl & OTF
fagg-awg # wEmE

(3) @gq & fam =EEm

(4) fomegmy - aifr dErEAl A TR

we foferm Av-amw @ w0 9 T F I TR

| FE A faefdE woee 2 F e, aue
aad @R wedmws e s & fag

(1)
(2)

fefed & € | A oIUOH &
fogia W 3mfi| € |

(1) drEs & Ao

(2) ufwg sEiEfia

(3) SRS T & 3fad e

(4) Bl FEE W@ & 3

fee-Afey =



(&)

PART II / 9T 11
MATHEMATICS / TR®@

Directions : Answer the following questions by R : fetEs Sv & 3v oF & fore wad 3
selecting the most appropriate option. ey gﬁ-g f

31. If 567567567 is divided by 567, the quaticnt 31, 'qﬁ BBTSETHET a::"T BRT ﬁ ﬁmm m Tl g

is Al wrTEA #
1 3 (1 3

I 0 G\ (@ 111

(31 10101 (3 1010
(4) 1001001 (4) 1001001

32.  In the product 3759 x 9573, the sum of tens' (g0 575040 9573 F A i, @R g i TFR

digit and units’ digit is HF AT g
(1) 0 1, o

ca: 7% @ 7

(3) 9 (3] @

(4) 16 {4y 18

33, igu:}ﬂ:;:tsands + 19 hundreds + 19 ‘ones is 33, 19 AR 4 19ﬁ$?;' + 19 sgE] 3

(1) 191919 TR T
(2) 21090 (1) 191919
(3) 20919 (2) 21090
(4) 19919 (3} 20919

(4) 19919

34. What time is 4 hours 59 minutes hefore

2 : 58 P.M.? 34, 2:58PM.¥ 492 59 fife ugdl 3w @ 7.
(1) 9:6LAM, (1) 9:57AM.
(2) 9 59AM (2) 9:569 AM,
(3 .10 01 AM. (3) 10:01 AM.
(4) 9:59 PM (4) 9:59 PM

SPACE FOR RONIGH WORK | ¥ &/ & fow sme



35.

36.

£9)

The solid as shown in the figure is made up [35. v& 2, e B gl 0 femmr 2, wdmy
=F (cubica! blocks) & ¥ ? 5 59,

of cubical blocks cach of side 1 em. The
number of blocks s

(1) 48

(2} &2

(3 60

4y 72

The figure congists of five squares of the same 6.

size. The area of the figure is 180 squate
centimetres. The perimeter (in cm) of the |
figure will be

(1) 36

4 72

19 & | = #) den @

(1)
(2)
(3)

(43

48

52

60

72

@ E SET W AER % e ai @ firaan
T & | ST F S 180 A Sdnfer @ |

SHG & ORE (I §) g

(1)
(2
{3)

(4)

36

45

48

72

SPACE FOR ROUGH WORK | T6 & & fae =me



37.

38.

39.

40,

41,

(10

800 em + 50 m + 5 km =

{1} G5 m

(2) 500 m

(3} 555 m

(4) 5055 m

In which of the following divisions, will the
remainder be more than the remainder you
get when you divide 176 by 3 ?

(1) 193+ 5

(2) 174 + 4

(3) 175+ 3

4) 176 + 2

The differsnce of 5671 and lhe number
obtained on reversing its digits is

(1) 3906

(2) 4906

{4) 3916

(4) 7436

Sum of place values of 6 in 63606 is
(1} 18

{2) 60806
(33 belho
(4) 6066
Study the following pattern :
1x1=1
11 ¥ 11 =gl

111 x 111 = 12821

e

Whatdis 31111 x 11111 ?
(11234321

(2] 123454321

(3) 12345421

(4) 123453421

37,

38,

39,

40.

41.

500 T, + 50 Hl. + 5 fEfl,
(1) 55 .

(2) 500 i,

(3) 555 HI.

14) 5055 1,

frefofan § # 50 e # 2 2wl stfys
M WA Y 176 3 H fadfae #wA B 0
(1) 173+ 5

(2y 174 = 4
(3) 175 + 3
(4) 176 =2

5671 3T FF i F UER 3 W Ww dw
&1 3l 8

(1) 3906
(2) 4906
(3 3918
4y 7436
63606 § 6 o widia Wl @ A 2
(1) 18
(2) 60606
(3) 6606
4) 6066
= few Mo ded w1 apeau FifeT
l1=1=1
11 x 11 = 121
111 x 111 = 12821

11111 % 11111 F41 & ?
(1) 1234321

(2) 123454321

(3) 12345421

(d) 123453421

SPACE FOR RGUGH WORK / vo & % fe soe
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43.

45.

(119

A shop has 239 toys. Seventy more Loys were
brought in. Then 152 of them were sold. The
nufmber of toys fefl was

239 - 70 - 152
239 « 70 + 153

(1)
(2)
{3) 238 - 70 + 152

(4) 239 + 70 - 152

; 1 s X
How many g arem ’ ?
(1) 16
{2) 8
3 4
t4) 2

Which of the following is correct ?

(1) Sucecessor of predecessor of 1000 i§
1002

(2) Predecessor of successor of 1000 is 1000

(3} Predecessor of predecessor of 4000 is
999

(4) Successor of predecesser of 1000 s
1001

A pencil costs two and a half rupecs, Amit
buys one and a half dozen pencils and gives
a 100-rupee ndle to the shopkeeper. The
money he will get back is

42,

44,

44,

45,

T TR F 239 TEE 8 1 gm sk fade wn
o FE O s fE o | e g fadE )
e 4t

(1)
@

238 — T0 — 162
239 + TO + 152

(3) 239 - 70 + 152
(4) 239 + 70 — 1562
S Afem L #2
1) 16

2y 8

@ 4

@) 2

frafefes & 8 a9 95 & ?

() 1000 % wdadl =1 wEd 1002 @
(2) 1000 % WedT T [HAA 1000 #
1000 % Yeadl &1 ydadl a9 &
1000 &% HEAl =1 TEAl 1001

(3)
(4)
uF Gfgd & e @i wee ¢ 1 s 27 oo

e valied 2 Al gEFER #1100 ¥9U F UF
die 2ar & 1 38 fdd suw awy fism 2

(1) T 5 (1y T 56
2) &5 (2) T 45
(3) 285 (3) Y¥6b
(4) T30 (4) T30

SPACE FOR ROUGH WORK | 75 &1 & for e
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47.
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Ms. Reena uses a grid aclivity 1o teach the
concept of multiplication of decimals. A
sample is illustrated below :

I,

0-06

-3

L—w_r'
¢-2
0-2 = 0-3 = 006
Through this method, Ms, Reena is

{1) focusing more en procedural knowledge

and less on conceptual knowledge

(2)  focusing more on coneepiual knowledge
and problem-solving and less on
procedural knowledge

(3) using traditional approach of learning

(4) focusing on developing problem-solving

gkill

A suitable approach for explaining | that »a
remainder is always less than the diviser to
Class IV students can be

(1} grouping of objects inmultiplés of divisor
and showing that the namber of objects,

not in the group, are less than the diviser

(2) perform lots of division sums on the
black-board and show that every time

the remainder is'less than the divisor

explain yerbally to the students, several
times

(3)

(4) represent division sums as mixed
fractions and explain that the numerator

of the fraction part is the remainder

46,

47,

o T e & e A dwer m
FA & fom e wfafafa 1 v w0l @ | 3o

006 I

[—

02
0:2 .03 = 0-06

5 TS g gl i
(1) WHEAUEid 99 W Swig w6 & @ @ afh
UFETHT 77 W 3y
HHCHIE WM AN OTLHEeE T
ST AE S W a9 weete I W
@ & WA I # WA 5 T 3
gnw-mmqﬁﬂﬁfﬁﬁmmaﬁi‘lﬁ
w4 IV & fafi=i &1 22 wmem ¥ fag fs o
T foar 4 gm e 3, sfe sy

w2}

13)
(4)

(1) a5gsT ) favmes & ol § aydga o
wefia w fF Tigeil @1 wen,
WE A6 8, fAges 3w d
(2) ¥AWEE WS S e 950 W ware
& R fom & e an Sy fwes g
e
(3) 4% ar fFuiel #r difes =1 ¥ @p
Al
(4) TEwsE a@ wae 3 e Bl & s f

feltd &6 3R 98 wE &6 F fay =
3 VT 2
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49.
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The objective of teaching number system to
Class Il students is to enable the students

(1) Lo count upto & digils

(2) to see the numbers as groups of
hundreds, tens and ones and to
understand the sigmficance of place
values

14)  to master the skill of addition and
subtraction eof four-digit numboers

{4) to master the skll of reading large
numbers

Computational skills in Mathematics can be
enhanced by

(1} giving conceptual knowledge alime
{2) deseribing algorithm only
(3} conducting hands-on activities in class

(4]  clarilying concepts and procedures
followed by lots of practice

The concept of areas of plane figures can bé
introduced to the students of Class Vaby

(1) caleulating the area of figures wath the
help of counting unit squares

(2} measuring the area of‘any figure with
the help of different objects hike palm,
leaf, pencil, ete.

{3) calculating ahe afeéa of a rectangle by
finding dength and breadth of a
rectangle. and using the formuls for
aredref a rectangle

(4) wtating the formula for

rectangle and square

area of

48.

49.

TN N & fAuldd #1 eyl wn oW

T

(1) 6 3@ o T H=A

(2) wwEnd @ dwE, el s T A
% ®Y § Fmw ok rrEgenE )
H HHHA

(3) W 3 Al gem & am i SEEn

& Y 0 R T ael

gl demell W uEd 4 Awe H g

W T

mfera 3 e F e vl @ e g

a1 wEA 202

(1) Fad WHewIed W9 257

(2) _FEA TAfeE (Algorithm) F avf #74

(3). @ o raEw gy fwanvia nfafafug @
FaET W

(4) dEeTmal oM el & mE ose %
% afas-d-afus snamg 0=

@ v & faenfidl & unde st % A

® Heaed ® R g uiifan & s wEE

g7

(1) @6 9 & WA & Herrd § angfeE
% ST W OO FAT

(4

(2) fafvd gl <9 eged, w@, U, afy
i oHEEW u fRal N snET F osEwd
F A

(3) gd @ o9 i s = war e

BT 3 #ME & ST%E & g3 W A
FF AT F TR F O FA
(4) #FT Al F GFEd T OgE T
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52,
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The NCF (2005} considers that Mathematics
involves 'a certain way of thinking and
reasoning’. The vision can be realized by

(i} giving lots of problem workshools L
students

(2)  giving special coaching to students

3)  adopting cxploratory approach, use of
manipulatives, connecting eoncepts Lo
real  Iife, invelving  students  in
discussions

(4) rewriting all text-books of Mathematics

While teaching the addition of fractions, it
was observed by Mr. Singh that the

following tvpe of error is Very common :
Sy B
3 5 10

Mr. Singh should take the following remeédial.

action :

(1) Explain  the econcept of LCM  of
denominator

(2) Give more pracfice ¢f same type of
problems

{3) Give pictorial representation io clear
the congept ©f addition of unlike
fractions, followed by drill of same type
of problems

(4] “Advise the students to work hard and
practise the problems of fraction
Caddition

a1,

52,

TP WeEed & RR@ (2005) WA 2

M H T st wdon @ ww wfm onfng

Bl 2 | & ofEwm @ o T e e

SET

(0 s W osgn wn wEe Ao
(worksheots) 41

(2) fEailEl 51 g o

(8) W OO W VAR E, e
W S, WS W) et
Sl ® S, famidt #r awisi g
e &

4 T el Tee-gEE Tt
AT

firsit =1 4 e wmw, A fog T @ Y@
i Froafafes vor 4 g agq amr 2 .

+

10

A B F fefdfas svmes s s
iRy -

=L B o
= A

(D & & g vEd (69) 9 gee
H WE Fq

(2) WA WER & a1 sifaE  spam
A

@ A Rl & 90 & deenn w5 wE
FH & o foens wfaey 3 qer ae

-

U ONE AHR & Hardl S sy s
(4) Rl @ feem s @ wem Aok
fsl % 4 &d wEE = s =0
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(15)
To assess Lhe students’ competency on |58, 3 3t oEFE W i, s # fen au
solving of word problems based on addition e F v o F o W o oW

and subtraction. rubrics of aszeasment are w = a
_ . WA FC F fau amer F vk 2
{1)  incorrect, partially correcl, completely

correct (N 7, Mifvw s R wd, gl g@

(2) comprehension of problem, _
identification of operation 1o be (2) WEE T Wyw, Fefen FOsE anEdh
performed, represeniation of problem WA & uRaE, U & e =y f

mathematically, solution of problem
and presentation of problem

fremor, mamt & WA e SR

{3} understanding of preblem and writing 3) o aﬁT N -
of eorrect solution
(4) identification of problem, performing (4) HaE T TEAE, G4 GiEar feufed w5

correct aperation

While planning a lesson on the concept of 54. [ 3 mw F UG WIS A9 w0,
! additi s g g O <ol T w1 v e ¢

fraction addition, a teacher is using the

activity of strip folding : % 1
s 1 s ?
== : s
Z :
= ¥ = 4
] 3
] 1
— = 8
[ 'k
Ssit &
A

Iqdw Tfafafin @
(1) fawg-as & qd & Wi
(2) fawa-aw wa= nfafaf
(3) fawg-w%q gvg ofafary
(4) W F TG

The above activity 15 a

(1} pre-content activity
(2) content activity

(3] . post-content activity

(4) waslage of time

SPACE FOR ROUGH WORK /| ¥%5 ] & fowe sme
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56,
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‘Recognition of patterns and their completion’

I§ an  cssential  part  of Mathematics

curriculum at primary stage as it

{1} promoles creativity amongst  students
and helps thew to understand properties
of numbers and operations

(2} develops creativity and artistjc aiiributes
in students

(3)  prepares students to take up competilive
exanrinalions

(4)  helps the students in solving ‘Sudoku’
puzzles '

Use of Abacus in Class 11 does not help the
students 1o

{1} attain perfection in counting

(2)  understand the significance of place
value
(3} read the numbers without error
(4)  write the numeral equivalent of numbers
given in wordy
Rizul is a kinesthetic learner. His teacher
Ms. Neha understood his style of learning,
Which of the following strategies should she
choose to clear his concept of multiplication ?
(1)  Skip counting
T T
01 2 3 4 5 Gmi (&
{2) Counting the poifits of interscetion on
eriss-cross lines’

2x1=2
(3} Forcing him to memorize all tables
(4) Use str'fngs and beads of iwo different
colenrs to get the multiples of 2, 3, ete.

v 7

57.

Bb.

o,

‘ﬂﬁﬁwmﬁx#wm‘wﬁ%

TR o F el v sifmrd fiewy ¢

h

(1) ¥ FiEe ¥ gemema @ o ¢
3TN s T4 TR & R aff &

g § I HerET T @
(2)  foenféd 3 g o weram o @
foafad srr 2 ¥
(3) ﬁmﬁ;‘faﬁnﬁﬁﬂﬂ&ﬂa‘i # fm dm

q.‘_{'ﬂ]' N
(4) GSIF Wl & o § frofd =
Rl e d
T TN W ARG FowAN _ F i
%l Rl T |
(1 T B AR g W Hw
(2) WA 7 =1 vEw F1 G
(3)Ta ol g & w9 vy
() ¥ 7 G desl % e g faed
e wsh fqeedl (kinesthetic) fovardf & | 3wy
Pofereer G40t o1 3= Sl sier =) o #
THE U F UEET F wE w0 ¥ fou
Fefefas 4 & fow =g & o a3
=ifgE ?
(1) a1 firedi
T T
012345
(2) El-fogt Y w
fir

—; 2)-(1‘.—2

(3) Wi wEsl B oA e % faw s W oA
Al

(4) 2 3 #f % 9 @ =3 ¥ fow @ fi
i A A s ue W A e

WW

[
6 7 B

sfrde fagen @)

SPACE FOR ROUGH WORK | Y% m1d & fire wme



59.

60,

L17)

To teach various units of length to the
studenis of Class 111, a teacher shall take
the fallnwing mateyigle to the class :

(1) Relation chart of various units
(2)  Centimeler ruler and measuring tape

(3} Rulers of different lengihs and different
units, measuring rod, measuring strip
ugsed by architecls

{4) ‘Measuring tape with centimeter on one
side and meter on the other side

A teacher uses the following riddle 1n a class
while developing the concept of basze 10 and
place value :

I am less thun 8 lens and 4 ones.

The objective of this activity is

{1} to introduce the concept of tens and
ones to the students

(2] to have some fun m the class and to
break monotony

(3) 1o reinforce the concept of buse 10 and
place valuce

(4) to do summative assessment

Most appropriale strategy that can be used
to internalize the gkill of addition of money
is

(1} Useaf ICT

{2) Use of models

(3) Role play

4} Solving lots of problems

o8,

HA

60,

1 N1 F famfiE & dad & fafrw Tt

i & fou fee fo=fafeg el 3er 4 A

5 Lo |

(1) fafrs Al = FEe-urE

(2) Hehder AN e s T @RSy

(3) fafm wEmE o @EE A e
(FEN), A9 el BT, AU A 9 oS
argER g s derdoand @

(4) A et 2 foRd uE T #Ee @
3 gl W R @

us foms afem 10 3R =HE 99 F gae

H fa@E wid TR @ ° frAataa wet W

Hog Rl AN g EEE S FAE

ATy w1 329 ¢

i) famfEl =1 egd #t s ® dweTw 3§
FEEGEETIE

(2) w1 A B AE &GN HRL UEEd @
GIEG!

(8) MR 10 3T WEE AW F dEEEw @
g% &

(4) TTHE AR FCA
T IUE SR, fAwE W el §
ai &) FyEd @ e # & fan B W

gl T, 2 |
(1) T SR T S (ICT) F W
ETC

(2) SieET w T A
(3 wffs-fralz (3 <)
(4) Fgd A FANT 5@ F
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PART III / 919 111
ENVIRONMENTAL STUDIES / wafaRvr Ieaaa

Directions : Answer the following questions by 'ﬁé‘,w : [EfEfa ool & awe 35 & fap N Iy

selecting the most appropriate oplion. ot E'ﬁ‘? /
61. TIn which vne of the following groups are the , :
words intimately related ? 61. Fefafes 4 § - VI HE 3mE § gy
(1) Mosquito, Dengue, Tron, Jaggery w4 Ellﬂliﬂi_ﬂ ?
(2)  Mosquito, Malaria, Anaemia, Tron (1) 7=, 9, e, 15
(8)  Irom, Malaria, Anaemia, Blood (2) WeR, FARal, awifi (Tha3TY), i

(8 we, weifan, s e
62, Arti noticed the following precautions related (4) FﬂB, SEUREE RS Ci ’ i

to prevention of spread of a discase on 4., AR wE M gy A | e D
:.Dsm;;} not let water colleet around vou e : ki W ¢ 1 ;
b.  Keep water pots, coolers anl:ih tanks W mﬂm 11]?1"‘{ # Gi'H'I' y ﬁ_‘i i

clean b WHLE W, TRl st S ) A

e HMT FoEE W ourh g B a2 A

{4) Tron, Haemoglobin, Anzemia, Amla

¢.  Spray oil if water has collected at some

place | fogwm ¢
d.  Use nets to protect yourself d 8 & a9 F e sireit &1 sy w
The poster is aimed at creating awarcness Tt = T2y & & e ¥ an o
about the spread of AR Yel & |
(1) Typhsid and Cholera (1) 2E%ES 3 &
(2} Dengue and Japanese Encephalitis (2 BT 3T SR Afrs-sa (Encephalitis)
(3)  Small pox and Malaria (3) ==F s nefig
(4) Dengue and Eye flu (4 T;n'?l 3k 3rE el

63, Study the Venn diagram given below : 63. e feu mu &7 aitm = T wifsu

Animals that Ahjmals that s w1 yFl & T8 Al
live on land _ live in water e Eﬁa—Eﬁj T:ﬂ"vl—ﬂﬂ

Animals that

lay eggs 3¢ & 9t shawrg
Which of the following animals can be placed Frafafes # & F-g - % f @ o
at X7 N
_ BET A
{1) Fish _ (1 waEt
|,’2} E:I'UCDd] le (2} A=
(3] Eel (3) T (FWJ

(4) Shark T



65.

67.

68.

(D

(19)

Anjali’s friend suggesied the fullowing four

ways to aveid tooth decay -

4. Brush vour teeth twice 2 duy

b.  Wear braces to avoid cnamel deeay

¢, Avoid sweels, chocolates and
carbonated drinlks

d.  Rinse mouth after every meal

Which of the above ways should Anjali

follow 7

(1) aand c

{2) b,candd

(3 ¢, danda

{4) d,aand b

An air-pump is kept in an aguarium in order

to

(1}  enhance the beauty of the aquarium

{2)  make water cleaner

(3} provide more carbon dioxide to wator
plants

(4) allow more oxygen to dissolve in water

Which one of the following pairs of life
processes  occurs  both  in plants and
animals ?

Growth and reproduciion

(2)  Growth and food making

(3) Reproduction and food making

{4} Reproduction and germination

Which one of the following best describes the
features on the surface of"the Moon ?

(1)
{2) No air, 9o gravity, smooth surface

{3} No water, encugh air, high mountains
(4) No water, deep craters, high mountains

No air, no gravity, no waler

A fishidies when it is put in an aquarium
filled with previously boiled water but cooled
to room lemperature. This happens because
the water in the aquarium is

(1) depleted in minerals

{2) unfit for swimming by fish

(3) depleted in oxygen

(4} unfit for drinking by fish

4,

65.

66.

67.

GB.

FHulel & weel ol A e # e ¥ Frafata

Wﬁﬂﬁimﬁﬂﬂ

b. T W A @ Ea fau AfAS g
T ya-yed 7

d.  ® WM % wG Feen

mﬁmmﬁwaﬁmﬁﬁﬁﬁwm

A Allew ?

(1) aaﬁtc
{(2) b, 3T 4
(3) ¢ d 3T a
(4) d,a 3R b

& faU modt (aEafany 4 g
A 99 @ W@ |

(1) < FIeleR (AEEiEm) & w926

(2)  OET # A &

(@ el gl Ahs FEA EEHTEOET
37 FH

(4) S SedieE F ouE I gee o

Frafufed 4 @ Sa-sfemsi &1 sF-@ g
Ug-uidl st Sfa-siqed Qi # iy @ 2

(1 afg &t s
2) 3E 3R 9T
(3) W9 T WS &

(4) §R SR SR
| H FE-w W 4 udE &

frfefiag o

fagmard & ar i wag =1 aviy S # 2
(1) & Fdl, T 6, el AE

(2) B W, e T, HAAel Ude

(3) 9l A, e =, 31 e

(4) UFl A, TR M, I wWE
aamwﬁﬁwaﬁﬁaaa“,é‘rﬁnﬁ%

Hﬂﬂﬁqﬁﬁ_
%%W{aﬁm}ﬂw

(1) @ dga #

(2) weel ¥ @ % dvw aF @
(3) Sieem wed @

(4) T I A F Arg ad @



69,

70,

71,

T2,

{20}

Rekha’s mother adds Phitkari (Alum) Lo water
collected from the pond every day in order 1o

(1) kill germs in water

(2)  decolourize water
(3)  sediment light suspended impurities
{4) change hard water into soft water

In order to separate a mixture of sand and
salt, which one of the following four SCHUENnUCS
of processes has to be used ?

(1) Sedimentation, decantation, filtration,

evaparation

{2)  Filtration, decantation,

sedimentation

evaporalion,

3} Evaporation, sedimentation,
decantation, filtration

Decantation, sedimentation,
evaporation, filtration

{(4)

Weight-lifters are generally required Lo make
more muscles and body rmasse For' this
purpose, they need to take a diel which is
rich in

(1) Vitamins

(2} Proteins

(3) Carbohydrates
{4) Fats

Which one of the following is a good cooking
practice ?

(1}, Cooking the vegetables by deep frying

to kill bacteria

(2) Washing the vegetables nicely and then
cutting

(3) Culting the vegetablcs and then
washing these in running water

(4) Keeping the vegetables in sunshine for

some time before cutting and ceoking

69,

71

72,

wR A % v v wen @
O F freEd e 2

(1) A Alge ol w o e

@ R & IR

(3) T e avEsdl ® stenfza w5
(1) FI S FogE w@ i wEtE we

@ et T % foem w5 gew W ¥ fam
swmad & frafgfes @F w9 O ¥ feeE

(1} ¥, e, frdea, amm
(2) TRiEd, Fenw, aoE, s
(3) 9, sEEes, Feme, frees
(4) Fremo, sEwEdA, amm, froetes

SIS F) WEr W aredfert i 419 T
(body mass) 394 F Navawd @ & | 79
Seva & fau, 5% U@ sWen @9 & WEvEE
eW__ Awma

(1 faefa

(2) WM

(3) wEEIITH

(4) =@

Frafefaas d o 9w =99 91 s6-91
T § 2

Wi ae aw & U ol @ o

(1}

defd U T

(2) ®fesrdl & a=dl we ¥ dr el fom
Gare .

(3) Wfesdi ® e sl 9w 3% =ed o
H

(4) Rl F ;e o vEd ¥ wa IR

9 WG F [T 99 §
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75.

(41

While teaching how dilferent fuod items can be
kept fresh for some time, Radha enumerated
the following techniques to hor clasy

@ Put it in a bow! and keep the tawl in
an open container having cold water

b, Wrap it in a damp cloth
Spread it open in sunshine

d.  Cut il into small pieces and keep it in
the dark

Which one of the following food items is she

referring to, corresponding  tn  Lechnique

‘b above ¥

(1) Kaju Burfi

(2}  Cooked rice

(8) Onion, garlic

{4) Green coriander

All big cties are facing the problem of
environmental pollution as a result of a large
number of vehicles en the roads. The best way
an individual in the ecity can contribute
towards environmental proteclion is by

(1} not keeping a personal wehicle like
seaoter, car, ete,

{2) getting the engine of personal vehicle
checked regularly for environmenial
mafe limits

(3) using a public transport eyetem for
travelling

{4) avoiding frequent travel outside the
home

While performing experiments with water,

Jyoti observed that am empty steel bowl

floats but a small iren nail sinks in water.

This can be explained by the fact that

(1) ironds heavier than water and steel is

lighter than water

(2) @yirom s lighter than water and steel is
heavier than water

foree on a steel bowl is more than its
weight whereas force on an iron nail is
lesser than its weight
(4) force on an iron nail is more than its
weight whereas force on a steel bow! is
lesser than its weight

(3

73,

5.

a vgd w9E 5 3w wwa % fau wm uadt )
% O WS TE W EwA #, WA ) e A
frfafaa s aaeial & aftmrr el # -

qﬁﬂﬂaﬁmﬁéﬁaﬁ@%?
b, T8 U TS w92 § @i & 2
c. I ym H ger hem 2
W ogid-w THEe U wwed el e
i @ et @

el SR ERT g @ 7
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(3) OIS, TEYT
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H YA
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e 9l F20 W A e g9 35% 9n
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T e 99 39S 9 F1 g § a8
(4) ﬁ%ﬁﬁammﬁmmmﬂnaﬁ

qe § T § W =i 8 den)
wﬁmwwﬁ;mﬁwﬁmé
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Engage, Explore, Explain, Elaboratc and
Evaluate are five important ‘Es’ in relation
to effective teaching of Science.

To provide practical experiences to the

students related to the concept of ‘Necessary

condilions for germination’, a Science teacher

asks them to do the following activities :

a. Soak seeds overnight and keep these is a
wet cotton cloth,

b. Observe the seeds after two days and
record the changes.

¢. Read the book and attempt the given
worksheet.

Which of the five ‘Es’ given above are not

being covered in the above activities given by

the teacher ?

{1) Tngage and Explore

(2] Engage and Evaluate
(3} Explain and Elaborate
(4} Explore and Evaluate

Which one of the following sequences of
steps is the correct way of preparing a
balanced question paper ?

(1) Writing the questions, preparing the
blueprint, matching with the design,
writing the marking scheme

Preparing a design, @reparng s
blueprint, writing and. editing the
questions, writing the marking scheme
Preparing the( design, writing the
questions,  preparing  the marking
scheme, matching with the blueprint
Writing and editing the questions,
matching with'the design, preparing the
blueprint, writing the marking scheme

(2}

i3)

(4)

There are four below average students in a
classq Which one of the following strategies
will 'be most effective to bring them at par
with'the other students ?

(1) Give them additional assignments to do

at home

Make them sit in the front row and
supervise their work constantly

Identify their weak areas of learning and
provide remedial measures accordingly

Ensure that they attend the school
regularly

(2)

{3)

(4)

76,
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(43

A Science leacher administered a lest afler
teaching the topic on  ‘Respiration' and
observed thal majonity of the studenis did noet
understand the dilference belweon respiration
and breathing. This could be due to the reason
that

{1} there was usually lot of indiscipline in
her class
{2} she could not explain the related concept

eifectively in the class
(37 shewas not their elass leacher

{4) the studenis could not uvnderstand 1he
question correctly

While teaching the tepic on ‘Air’, an EVS

teacher wanted to demonsirate thal air has

weight and occupies space. Her colleaguc

suggested the following four different

activities for this purpose 1o her ;

a.  Place an empty inverted beaker on the
surface of the water and start pressing it
down

b.  Suck the juice through s straw
Blow air in a balloon

=

establish equilibrium. Then puncture one
of the balloons.

Which of the above activities will léad to
demonsirating the desired result(?

(1) aunde
(2) aandb
i3] aandd
f4) bandd

Which one of the following teaching stralegies
will be mesl effective for maximum
invelvement of students in teaching the
concept of food chain ?

(1) ~Ask sludents to explore possible food
chains operating in different habitats

(2} Ask students  to  collect  related
information from internet

(3) Ask students to copy all examples of
different food chains written on the
black-board

{4) Make play-cards of organisms and ask

student groups to arrange them to depict
different food chains

Tie two inflated balloons to a rod and

T4,

BO.
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84.

{24)

In order o iniroeduce the Lepic on Nutrilien'
m class more effectively, a teacher should

(1) draw the diagram of digestive system

on the black-board

(2)  show the model of human denture

(3) ask the students to open their tiffin
boxes, sec the contents, followed by

teacher's explanation

(4)  give examples of different foods rich in

nutrients

After having been taught about the rich flora
and fauna in India, the students of primary
classes were taken to Ranthambhore
National Park by the school. This would help
the students to

(1) have fun and enjoy with friends on an
outdeor trip

(2)  develop respeet for nature

(3}  co-relate classroom learning te real-life
situations

(4) develop skills for environmental
protection

The topic Depletion of Petroleum and Coal
was taught to Section A of a class by using
multimedia capsule while the other Section B
was taught through diagrams drawn on the
Green Board. It was found later that students
of Section A understood the topic to a better
extent. This could be due to the reason that

(1) ¢Audio-visual aids engage all the senses

for better retention

(2) Green Board is not a good visual aid

(3) Multiple approach is closer to everyday

life sitnations

Use of multimedia aids is
comparatively more economical

(4)

B2,
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B6.

B7.

{257

Samir of Class V usually docs not submit his
assignments to the EVS teacher in time. The
best corrective measure could be tn

{1} write a nole to parents about his
irregularity
{2} bring it to the notice of the Principal

{3) stop him from going to the games elass

(4]  find out the reasons for irregularty and
counsel Samir

The major purpose of periodic parent - teacher

inleractions is ta
{1} highlight each other's shortcomings

(2)  share the information aboul ongoing
cvents in the school

(3) discuss the child's strengths and
weaknesses  for  reinforcement  and
improvement

{4) develop a social relationship with cach
other

While teaching the lopic @n ‘Air is
everywhere’, a teacher asks the following
questions from the students :

a, s there air in the soil?
b, Is there air inside water ?
c. Is there airinside our body ?

d. ls there air inside our bones ?

Which wone of the following skills is the
teacher trying to develop in the learners ?

{1) Observation skills
{2} Classification skills
(3} Thinking skills

(4] FEmotional skills

B5.

86.

B7.
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(26 )

A teacher can identify a stressed child when
the child shows the following behavieur -

(1) Hyperactivity
(2)  Apgressive behaviour
(3)  Full eoncentration in studics

(4)  Excessive talking
Which one of the following four teaching

methodologies  followed by  four different
Sclence teachers for teaching the topic ‘Aar

Pollution’ is most appropriate 7

{1} Asking the students to read the topic

from  the text-book loudly  and
explaining the meaning of
concepts/terms

(2} Dictating the angwers to all the
questions in the exercise aftor

completing the Lopic

(3) Showing a documentary film on AW
Pollution’ to the students

Asking the students to veolleet air
samples before and after Miwall, study
their quality and tabuléte the Nindings

(4}

While teaching the topic Friction’ to Class V
sltudents, a1 teacher @ave a number of
examples to e¢xplain that friction is alco
useful to us i many ways. Which one of the
following ‘examples was quoted by her
incorrecily 7

(1
(2)

A vehicle stops on application of brakes

We are able to write due to friction
between the tip of the pen and the
paper

{3)  We are able to walk because of [riction
between our shoes and the ground

An object thrown vertically upwards
always comes back to us due to friction

(4)
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